
• Atom clip

https://www.bing.com/videos/search?q=atom+jim+al+khalili+radioactive&&view=detail&mid=9E3D9FE2E259671CF5F29E3D9FE2E259671CF5F2&FORM=VRDGAR




64 kg Uranium
Equivalent to 15000 Tonnes TNT    90 000-146 000 
deaths 



Label the helium atom and fill in the table:

P_____

N_____

E_____

{

N_____

Particle Mass Charge

Proton

Neutron

Electron

eutron

lectron

rotonucleus

1

1

1/1840th

+1

none

-1



With the mass of its nucleons: mass of proton= 1.007 28 u

mass of neutron= 1.008 67 u

Calculate the expected mass of a Helium nucleus 

Compare the mass of a Helium nucleus :4.001 51 u





What do the protons look like?



Who decides what data is useful?
How is data  stored?
Who is the data available to and how is it used?



Could quarks be collided in the future?



How much further are students taught at 
degree level than A-Level?




